\
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more bubbles will result in zero marks in that question.

NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is
correct, fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or

DOl —1-2Y 1-Adir

An irrational number that contains radical sign is called a oy Hlp(:x Atk J;Jg S s «?kﬁ.’ .{l
Natural number mJJJ (D) Rational number wu.bb (c) Surd (’ i 45 (B) Mixed surd (‘ I A bF (A)
surd can be multiplied , if they are of the -y uf! q..(jclg ¢ .,a/'f("l yz
Order n J n 2» (D) Different order Ju_e»..ﬁ (C) Order2 J&J;» (B) Same order J,.wulpg (A)

?Jn@z UJP(a) ?4.1!1.‘0"‘}?._{! ‘a’ .{za.s,w?:. x-4a (?J,é(ff.n > 106" P(x)al,c‘*(ﬁ

If a polynomial P(x) of degreen =1 is divided by polynomial ‘x—a’ where ‘a’ is any constant,
then P (a)is

a (D) 1(C)  Zero” (B) Reminder 43& (A)

H.CFof 2¢-x—1,2x +3x+1 ce Pl DP=x=1, 20 #3041

x-1 (D) x+1 (C) 2x+1 (B) 2x -1 (A)

LOCMXHCF _ - Frosbstss x (Pisb
First Expression ' g

LC.M Fiistss (D) H.CF b (C) . 1/(B)  Second Expression 12 | (A}

Solution set of |x—1]| =4 ,..q,ﬁ»;d’b’ jx-1j=4

{5,3}(D) {-5,3} (C) {-5,-3} (B) {5,-3}(A)

The number of techniques to solve a quadratic equation is Y. 20 LiSS S absbs Gssn

4 (D) 3 (Q) 2(8) 1 (A)

Factorization of 2x*—3xis - e Uf § 2x% - 3x

3x ~2x* (D) 2x2-3x (C) x(2x-3) (8) 0O (A)

In a unit matrix diagonal elements are AL LIS dis 1)l sck)

0 (D) 1 (C) 2 8) 3 (A

-q.&/ﬁlff LA u'(:lﬁ JU:JVJJI Sl

The number of rows and columns in a matrix determine its
Determinant 3" (D) Columns Hb’ (C) Rows (JAB (B) Order 2/ (A)

Circles with equal radii and equal diameters are called - -wz,u( A dts BB Sl Sils
Semi circles &3 id (B) Concentric circles &7 7, s75 (A)

Concyclic points b 71y (4 (D) . Equal circles &7l J > (C)

The number of medians in a triangle is _— G107 Sugtes S &b sl
' 4 (D) 3 (C) 2 (8) 1 (A)

The medians of a triangle are Y. P - % L al
4 (D) Non - concurrent Jﬁ’(" ;.' (C) Collinear 16(? {B) Concurrent 5 /7 4J£€7.{l (A)

Area of an equilateral triangle with side ‘a’ is -g-bnd Went'a’ bb K2 als Lo Sols
B < (p) B () bh(B) ;b (A)

. PV 4 Lm,f.;.&nwngd'ﬁ'im;d/ég
A point in the first quadrant is characterized by the fact that both its coordinates are
| Positive and negative both uﬂmf’ »ed (D) Negative ¢ () Positive =2 (B) Zero M (A)
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Q. No. 2 erte short answers to any Six of the following 2x6 -g’f//’ul.l!/#&;lilg e_»éf 2 /Jlr'

Provethat(a+b) +(a— b)? =2(a’ +b?)

If Ply) =3y’ + +9, then find P(0)

Define pure surds.

Define Linear Polynomial.

Factorize a’+a—3a’—3

If P(x) = x° — 10x° + 7x + 6 , then find P(3)

Find H.C.F by Factorization tiébc"' , 8a’bc, 6ab’c
Find L.C.M by Factorization xyz, xyzi , Xyz’

Define Least Common Multiple.

(a+b)*+(a— b)? =2(a’ + b?)
-21.-?(:“’ P(0) 9x Py} =3y’ +Z +9

4abc®, 8a’bc, 6ab’c

xyz, xy’z,

Bt
A
S oee
PEAY NIy (191
a+a-3a-3 -ZEUf

2 P(3) I PO =X~ 103 +7x+6 S

-ér)b‘ rs’ubd;z’ 2k
xyz* -Zf.zrr}" J’. 1Bla%l a3 df 2k
g fSiowis

M |
(i)
(iii)
(iv)
v)
(vi)
(vii)
{viii)

(ix)

Q. No.3 Write shortanswers to any

six of the following 2x6 -z:jayﬁﬁgﬁflm{ céf 3 /:}dlr‘

Solve |3x + 4| =9

-ES

[3x +4|=9

(@

Define transitive property of In-equality. -2’5...9!}7 G ees™ =l Sudnls | (i)
Solve 9x—3=3(2x~8) ox-3=3(2x-8) -ZJL| (iii)
Solve by Factorization x* =8 —7x > =8-7x “ZE SR 2| (i)
Define quadratic equation with example. s Jo sl 2-: oy FatbsEns| (v)
solve (x-3)’=4 (x-3=4 JEZ S (i)
Define Equal Matrix. = Z_:...,-:}’ d/...)li' sl | (vid)
IfA= [; _il ,B =[‘: z] , then find AB ZEp# AB JnA= [; 2] =['1 5] {vill)
IfA= [:; _ﬂ then find |A| ZEp# |A] InA= [:; *i] FANCY
Q. No.4 Write shortanswers to any Six of the following 2x6 _5:/‘;’ _,Lli/#L,li! g 4-@[ 4 /dlr
Define the sector of circle. s ‘{J,‘ J,C Lem| )
Define abtuse angle. - zl:...y} Ja“_:l) 22| (i)
Write an equation for the given triangle find the value of x .."f;r}” X/‘O",’ sl J..&,L"‘ Grd: (iii)
Define Altitudes of a triangle. Ay Stos Lot | (iv)
AU REEIE NS b U Gl Ll | (V)
Draw an equilateral triangle each of whose side is 5.3 cm.
Draw a circle with center 0 and radius 5 cm. _n/‘/('f'/ 5 sl Of/ KU & taodls it {vi)
_érﬂ"JLJJ/;«‘,@/&-’lzm/é’-’sbum;Z_..,L‘.,uuw.fl (vii)
The sides of a right triangle are 5 cm and 12 cm. Find the hypotenuse.
Define Area. - éqj}’ S5 (viii)
il Describe the location of the point (0,4) ona number plane. ..21.‘:;%' S Soss /(0 «4) 55 (i)ij




Part— 1l (2242
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NOTE : Attempt THREE questions from this part 8x3=24 éd' amrcf c..J:( g1 oY

-1)? 2 -1)2 L s
Simplify =2 e B xex-? | Al (A)-5.AJiy
2x2 -1 4%2 +4x+1 2x2-1 4x2+4x+1
Factorize -64x" —xa’ 6ax’ —xa® -Z$7 | (B)

ey K=yt =yt 2 e Frdeons §F sk | (A)}6.AUr

Find L.C.M by factorization x*-y*, K=yt % =y°

Solve m-13=vm+7 m-13=vm+7 -2/ |(B)
2 11x-26=0 -ZS e 3}LB, I | (AT A

Solve by completing square method X' -11x—-26=0

AA=1 T2 A ZE U QP A I A [_i g] 4| (B)
if A= [_i g] then find A* and show that A'A=1
aiy=1 , Sx3y=2 ES UM = 2 Z £ (A8 A

Use Cramer’s rule to solve the simultaneous equations 2x+y=1 , 5X +3y =2

Construct a square whose one side is 5 cm. kS & ¥t 8y L | (B)
% 2 8y 8 e 10.50 AA L S E e JuK ¢ 11 K 3.87 4l £5.49 Sz S L | (A9, A
ST 78 WL

Find the area of the room 5.49 m long and 3.87m wide. What is the cost of
carpeting the room if the rate of carpet is Rs 10.50 per m??

By Ladh et LI C(-6,-7) # B(2,7),A(6,1) 36 SZE =t | (B)
Show that the points A(6,1),B(2,7)and C (-6,-7) are vertices of a right

angle triangle. B
TR
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ﬁk"dw&_.flzwzﬁc.ufu’/’l)ié—) & £12/;4Q5’L}l£-w£2,:DAIA,B,C g Bl Loz g 2hiy
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is
correct, fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or
more bubbles will result in zero marks in that question. % K —) ~ L!‘./

1-AJir
~ b U U QM) al P(X) £ QWO LS LAY LS g% L a
An aigebraic expression of the form g—% , Q) =0 P{x) and Q (x) are polynomials is called a

Rational expression Jz (Pt (B) Rational number s (3t (A)
Mixed surd (I 4524 (D) surd (14 (C)

(a+b)+(@a-b)=? f= (a+b)*+(a—b)’ | -2
2(a’ +b?%) (D) 4ab (C) a’+b’ (B) —4ab (A)

A cubic polynomial is of degree ' - bnonk (?; s | 3
3 (D) 2 (C) 1 (B) 0(A)

Product of two expressions = ? C= o/ Lo d,él »| 4
LC.M Fiiisis (B) H.C.F b (A)
H.CF + LCM  Jisons + e (D) H.CF x LeM Firoies x (P (C)

-q.(}ﬂ;fd:a:?w/:f@l:l/‘f’ﬁc—gu 5

Any value of the variable which makes the equation a true statement is called the
Variable 2> (D) Solution f (C) In equality =tle# (B)  Equation =il (A)

A quadratic equation has a degree cq-batonbabloEnn | 6
3 (D) 0 {C) 1 (B) 2 (A)

In matrices (A+B)' = ? (A+B) =2 L uss | 7
A'B' (D) A' (C) B' (B) A'+ B! (A)

lfA:{‘; ﬂ then |A]=? |A]=2 ?A=[‘; i] Al 8
6 (D) 26 (C) 10 (B) '§16(A)

LW I T LW S S LR | 9

Two angles with common vertex and common side are called

Suppiementary angles < (§ 25 (B) Vertical angles &1 (51, (A)
Complementary angels s §#%% (D) Adjacent angles &1 (C)

Angle in a semi circle is - & bt ol 20 e | .10
Right angle s .75 (B) Vertical angle s 51, (A)
Suppiementary angle s § hﬁ‘ (D) ' Adjacent angle _sti J& (C)

et Bmis BE L Wy Lt | a1
A line joining one vertex of a triangle to the midpoint of its opposite side is called
Side bisector J-l:b’é’ (D) Median 2.5 (C) Altitude {4 (B) Angle bisector i t¥ st (A)

Area of an equilateral triangle with side ‘a’ is - g bt J¥n D é’ ¥ U? ads e obs | <12
2o B2 @  bhe)  lbha
The co - ordinates of the origin are b Lodar | 13
(0,1) (D) 0 () (0,0) (B) (1,0) (A)
Factorization of a® - 1 is ‘ -e-U g g" -1 .14
(a® +1)(a+1) (D) (a+1)(a’-1) (¢) (a—1) (a’+1) (B) (a-1)(a+1)(a’+1) (A)
d=y(x, —x)2 + (y, — y4)? iscalled -q_t‘ﬂ/ d=/(x; — x)% + (y; ~ y1)? 15
Collinear points 16 i 4 (B) Distance formula Jb"k&f (A) .
Equal points % (sl+ (D) Non — collinear points i 13¢5 # (C) D 3
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Q. No. 2 Write shortgnswers to any Six of the following 2x 6 _2{4/’ a(,lﬁ;#f. A2 £ c:_df 2 /Jlr’—
If P(x) = 9° — 2* + 3x+ 1, then find P(1) e P(1) F i) = g - 2% 3w+ LA ]
solve (ab “216)3 (ab __1_)3 o | (i)
ab :
Define rational numbers. _ef oy e P | i)
Factorize a°+a—3a’ -3 3ra-3a°-3 &L ¢f | (V)
Factorize X’ +5x -6 W +5x—6 2@ | V)
Find H.C.F by Factorization 4ab S, 8a’bc, 6ab’c  4abc®,8a’bc, ab’c irﬁ’(ybb $F 2k | (vi)
Find LC.M of 12p%¢%, 8p*ar’, 4pla’r 12p%q’, 8p%A, 4p2q3r _érk"fuw,j {vii)
Define zero’s of a polynomial. _2{_4/7,]/ L&, 2 | viii)
Factorize 27x° — 64y’ 27¢ - 6ay' A | (ix)
Q. No.3 Write short answers to any Si§\ of the following 2 /6 -2’54‘/’ a@lﬁ/‘gé'm{ :._Jf 3 /Jdiy
Solve 3(2x+5)=25+X ax+5)=25+x 2= ()
Solve |x-3]=5 x-3]=5 &S| (i)
Solve 3(x—2)<2x+1 3(x—2)<2x+1 =) (iii)
solve by using Factorization 5x = X +6 5x =Xt +6 -ZES YA 24| (iv)
Solving by using quadratic formula. ax* +3x-2= 4’ +3x-2=0 S e §KXGnn| v)
Solve (3 - 4x)= (4x-3) (3-ax) = (ax -3 -ZEJS| W)
Define null matrix. Give example. s Jo sl s 7 Mo vil)
IfA= [E 25] 84 _O% "%] “then find A+B Kod A+B T A= [E 22] B _(2)3 "21'] A | (i)
Ll_fiz[n 0],D=[ \, 4],thenfindCD D ?.nC=[0 0],0:[ 5 ﬂfl (D()J
Q. No.4 Write shortanswers toany Six of/the following \% X6 ...2{ 4/’ R 4 /tf Lzl £ 4-_(3:( 4 /?dlr
Define “Acute Angle”. Ay S vl (i)
Define “ Chord ”. Ay RSN )]
Construct a square whose one side ig’5 cm gk s é‘ A6 etk B L) (i)
Draw a semi — circle with diameter 4 c and centerat ‘0’ -&-toZ\A Db)"'LJH}f & a 4'0’ f/ {iv)
A= 60°,msB =/30° sl mAB=6cm - g Wb Qe Kot o) &l B2 G bedd | (V)
Construct a triangle , when two an les and their included side is given.
mzA = 60°, msB = 30° s mAB =6¢
~£(JVJUJ},:‘,M%G‘-’1ZJ,I;:‘$? Lt 2 £ &l ot L1 | (Vi)
The sides of a right triangle ar¢ 5 cm and 12 cm. Find the hypotenuse. '
fo alb iafE al o T UnT8 0 72,30 Lo £ ks A1 | (vil)
If 30, 72 and 78 represent yhe lengths of the sides of a triangle. Is triangle a right triangle ?
| \ -8 (7 C(9,8) 4 B(5,6) AL, 8) 56 S5 =g | (Vi)
Show that the points A(1,4), B(5,6) and C(9,8) are collinear.
\L_ocate in the coordinate plane (2, -4) LEE BN U s (2,4 (ix)

(78 % N\




Part -l (2 42

NOTE : Attempt THREE questions from thispart 8x3=24 _é‘f eyl :;.—(jf Py S <9

pa Y -2 —24

xy=10 s x+y=7 P érﬂ"a-zkf 34:? (A)-5. AUl
if xy=10 and x+y =7 '

Find the value of x* +

L e d Sk IO (0 e LS &4 x-2 f Plx)= 3/ kx=26 Ji| (B)
If P(x) = 3x3 + kx — 26 is divided by x -2, find k , lfremalnder is 0

(x +~) 10 (x+ )+2 éa‘"d/lw (A)-6. AU

Find the square root of (xz S8 xl—z) -10\x + %) + 27

3(x/+ 5) >2(x+2) +8 zJ | (B)
- ‘JLJ JJ Jdn:f 3x2+x—-2=0 (A)—7./=7(Jlf

Solve 3(x+5) >2(x+2) +8

Solve 3x*+x—2=0 by using quadratic formula.

o A e L 5[] =[50 4 ® |

If [; (51] [I;] = [P{S] then —T—d_the value of gand b
Zx+y=1 , 5x+3y=2 LSS U A & B L/./ (A)-8. A

5x +3y =2

Use Cr%er’s rules to solve the simultaneous equations 2x+Y<X 1,

e b a s in bufc,‘;urbéu'hx/u‘-’llauuf(‘?/f Gf’ sl Cuyl Sl (B)

Draw a circle passing through the three vg rtices of an equilateral triangle with length

of each side 4 cm.
et

_t 120 em, 150 cvh, 200 cm U/ S g St B 2 o SN P (A)-9.AUir
50 cm , 200 cm

Find the area of a triangle whose sides are 120cm, 1

_ M B A A(2,48) B(6,2),C(4,3) S EE et \(‘B)\

show that the points A(2/4 ),B(6,2) and c(a,3) are collinear. |
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